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Use the following information to answer questions 1 through 3.


You are considering investing in a security that makes 30 semiannual interest payments of $57.50 each with the first payment coming 1 year and 4 months from today.  The security has no “par” value.  Because of the risk involved, you would need a return of 17% per year.





1. What rate would you use in calculating the present value of the semiannual payments?











2. What would you enter for “n” in the present value of an annuity equation or “N” into the financial calculator when you calculate the present value of the semiannual payments.








3.  After solving for the present value of the semiannual payments, you would need to take the present value of this answer back to today.  If you use the rate in number 1, how many periods would you need to use when you take the present value of your first answer?








4.  Suppose that four months from today you plan to make 12 monthly deposits of $100 each into a savings account.  Beginning two years from today, you plan to make the first of 10 annual withdrawals that increase by 4% per year from this account.  What sequence of calculations will allow you to determine how large your first withdrawal can be (for example, present value of a growing perpetuity then future value of a lump sum)?

















5.  Suppose you purchase a bond that matures 3 years from today.  What do we call the rate that you earn on this bond during the third year?








6.  One of the implications of the inflation risk hypothesis is that the expected return from investing in long-term bonds exceeds the expected return on short-term bonds.  In one sentence explain why this does not in and of itself necessarily justify investing in long-term bonds.














7.  Last week the return on a one-year Treasury strip was 5.40% and on a two-year Treasury strip was 5.37%.  If the expectations hypothesis is correct, what does this imply about the market’s forecast of what the one-year rate will be a year from today?











8.  Suppose you have gathered the following information:  the standard deviation of returns on Microsoft is 43%, the correlation between Microsoft and the market is 0.73, the standard deviation of returns on the market is 23%, the return on T-bills is 5.2%, and the market risk-premium is 8.2%.  What is the beta for Microsoft?











Use the back of this page to draw the answers to 9 and 10 on the same graph.


9.  Draw a reasonable efficient set if you construct a portfolio of three risky assets.


10.  If you are more risk averse than the typical investor, draw your optimal combination of risk-free borrowing or lending and the three risky assets.


